Algebra G Keﬂ Target 7.1:
Chapter 7.1

Notes Graphing Linear Systems

Questions for Thought:

What is a solution for x + 2 =107
-2 -2

X=3
What would be a solutionto x +y =127
examples: X =2 y=10
X=-2 y= 14
Lots o solutions !!
Is the point (5, 2) a solutionto 3x &2y =117

3(5)-2(2) =1l
5 — 4 = |
1y =) \/GS <
What would be a solutionto x +y =12 and ox +y=2?
y=7
X=5

Is the point (5, 2) a solution to 3x d 2y = 11 and dx + 6y = 77

3(5)2(D=1\ -5+b(2)=17 ges bec aubl
=1 =1 both eguatid
- yes yes J v
System of Equations:

7 or more linedr eq,u&st

Solution to a System of Equations:

an ordered pac that worts in all linear equoions

Try on your own! Is the point a solution to the system of equations?
y=x+4 =-4+4 = 0=0 = yeés !
y=x33 0=-43 = 0=-T= No !

Point (-4, 0) becorsre i+ does not work IN
both, hot a solwhon'

ns






